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GENERAL INSTRUCTIONS 10 THE EXAMINEES :

1) <hamdf wégum 393 ver o o s s e |

Gug-3
a - (1) e A & EE &
) 3\@“ el T0A #R Iu? gfere § R
- &Q‘
(1) & YATEE &1 HCF & LCM 13 3182 B afe was qorias 26
gatgE Hrfrg-
(31) 78 (@) 9N
(@) 13 (&) 52

HCF and LCM of two positive integers are 13 and 182, if one

integer is 26 then find the other integet

(a) 78 (b) 91

(c) 13 (d) 52

(2) af o 3R B AEUE X -5x+0 & = & 1 At o +B-3ap FAH
ghm

(31) -13 (&) 13

@) -23 (@) 23
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If aand B are zeroes of the polynomial x?-5x+6. then the
value of o +B-3af will be

(@) =13 (b) 13
(c) -23 «d) 23
(3) K & farg 7 & forg aftaseor g Ax-4y = 9, 2x+Ky =1 Cafeac
g T8l 6-
(31) -3 (@) 4
(@) 2

@-2

For which value of K
= 11 has no solution

{he pair of equations 4x-4y = 9, 2xtKy

(a) -3

h the n i ima inary
(b) both t origi als will bel g

h th iff nt
(c) both thé roots are differe

(d) none of thesé
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A.P : 30th term of 10,7.4,......... is -

(a) 97 (b) 77

(c) -77 (d) -87

(6) 3 8t fFwar aret ga & ey ghm-
(31) 3 At /&) 6 &
(&) 1.5 gt (@) 7 @t

The diameter of a circle of radius 3 cm will b€~
(a) 3cm (b) 6 cm
(c) 1.5cm (cdd) 7 cm

(7) g (-5,3) &1 y-srer & g alag |

{

(31) 5 () "R
@) 3 ‘ (4]« 2
S
O
Write the dr&@nce 07 the point (-5
\Qrb~ '3)'r0ﬂ“|‘[he -ayic
(aJ 5 @Q Y-axis.
S (b) -5
(c) 3 (d) -2
(8) 9sec’A - Ptan’A z e
(1) 1 W) 9
() 8 (@0

2
9sec’A - 9tan?a IS equal to-

a.)1l b.)9
c.)8 d.)O
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(9) Tan60° &1 am-
(3 /3 @ 3
9 0

The value of tan’60" will be -

(a) 3 {b) 3

()9 (@0

(10) #€33,5,7,4,2,1,2,6,2 & agas 2-
(35 @) 7
(") 6 @ 2

The mode of distribution 3.5,7.4,21,2,6,2 is-

(a) 5 by 7
(c) b (d) 2
(1) @t sferrer 50-70 @1 @t g g
(31) 60 () 55
@ 75 () 45
The class sign of the c'@s interval 50-70 will be-
(3) 60 g\@{m 55
&)
() 75 Q\QQ” (d) 45
JA2) ﬁ@a@& & piftea & W @ -
(3) 0 (@) 1
@) 2 (@ -1

The value-of the probability of a certain event is-

{A) O (B)1
(c) 2 (dy -1
gaid- (2) fres vt &t gfd o

(1) 21 T # g T &R & g U fafR

hEdldl & |
The appropnate method 1o
variablesis called ..................

make one variable equal in two
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(2) AP -1.25,-150,-1.75,. . = . #=.?

(3) g fag & fduias . ... BR& &

The coordinates of the origin are «+++««-++++-

(4) SinA / Cosa= 1 am m
U5 Cot (90"-A) = an A
(6) TEgEh A FAF G ...

The formula for finding the mode is -+ -

u- (3) stfdeyaaates g

(1) E&@n 65 3R 117 &1 Hgwn gagads md S |
Find the greatest common factor of the numbers 65 and 117

(2) faura sgue w1d A Grad gt @1 g od quate -3 #R 5
g '

Find the quadratic polynomial whose sum and product of
zeroes are -3 and 5

A3) 3+ x*+2x+ 5 $+2x+x’ | s &fe |
Divide 3x’ +x’+2x§\\ by 1 +2x+ x*

() o <ieam GASREn B AR 2 5 R R serfAd 7
ford | Q\

If the Iarg@&gnumber is‘three times the smaller number, then
write this situationin geometric form

(5) fema @iftaaon 2x7 -x -6 = 0 & 3§l 714 Hrfag |
Find the roots of the quadratic equation 2% -x-6=0

\/(6) afz fema et kx +5x+3k3?*mﬂ‘ﬂ“ﬁwa;‘

aR1ER g, at k &1 AE A |
f the
If the sum of the zeros o
is equal to their product, then
7) ga & 954 a2 Sffar &1 = ﬁ’-ﬁﬁq \
Name the largest chord of the circle
{ ufer & f@A |
(8)%['5,4]%‘:‘“@ (-5, 4) located

In which quadrant is the point
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-

9) 4CosecA = 5 gt al cotA &1 719 T Y |
If ACosecA = 5, then find the value of cotA

A10) Cosec’® - Cot’@ mamfaf@ay: 4
Write the value of cosec?’d - Cot’8

) @27 3,4,6,0,2,5 1 A4S T ST |
Find the median of the distribution 3,4,6,0,2.5

(12) U g A 3 @ 15 da &N 2 | 39 IR 7 @ Uah 9 angfade
\mma:awaﬁmmamﬁmmm1

box contains numbers from 3 to 15. One numberis drawn

at random from this box. Then find the probability of getting
a perfect square number

QuE- 4

Rer- (4) V3 T@ sy T 2 Qg B
Prove that \/3 is an itl:’ll;lgé@l number

war - (5) faurd agua 4,@@ Ax 4 1 QT Wi BRY e e W
7 gd 1UTHA & @%dhn & uifa Ay

Find the zeroe&l the quadratic polynomial Ax’ - Ax + 1\ and
check the correciness botween the sum and product of

Z2eros

g - (6) e YA iUt yim &) niarain faft A wut Ay

V2x +V3y =0

V3x -8y =0

Solve the following pair of hneat eguations by substitution
O ‘

method

2x + 3y =0

3x -8y =0
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- (7) fare wefietor 3x” - 4~/3x+4=°ﬁwm

| = the nature of
The quadratic equation 3x" - 4+/3x + 4 =0 Find

the roots

m-(s)ﬂmmmm3ﬁwtl

How many two digit numbers are divisible by 3

..aﬁa#tﬂmuz'iat?

-(9) @Hiar &Y 3,8.13..
A7) .is787

Which term of A.P.3,813..

- {10) 7memﬁqumﬂ3:5tmﬂ
AvfSra g |
Draw a line segment 7 cm long. And divide it in the ratio 3: 5

"= - (11) Boar 3 @ft &1 g ga difvg |

Draw a circle of radius 3 cm

g - (12) BEofda suat sinA 3 tanA =Y COlA & wal ek

Ffg | N
Express the trigonom(gﬁic ratios sinA and tanA in terms of
cotA @
©
QQ

" guA- (13) Uf2 tan2A = cot(A 18°) Hel 2A U g & @t A &

a1 Fra Hfore |
If tan2A = cot(A~18°) where 2A is an acute angle, then find

the value of A

H-(14) U SRARAT 4¢3 &1 714 5 ¢ 3R ageres 8 @ al Ardh 11d

HIfAT |
If the mean of a frequency distribution is 5 and the mode is 8,
find the median
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N~ (15) et arfag) @ Anad wa A -
19,25.59,48,35,31,30,32,51 af% 25 &1 52 A @z Rw IQ GUELL

WYETeR & /T 357 8170 |
Find the median of the following data -

19,25,59,48,35,31,30,32,51 If 25 is changed 10 52 then what

will be the value of new median

SRA-(16) t{a’iwrﬁaﬁdm%ﬁu?aia?Imu‘ma 3 & mitewd
q1g HIfAg |
Find the probability that
is thrown twice

the sum of the digits is 8 when a die

qUs-H

~HUF-(17) 0 3% 50 & dra £ fren wmel & GrEs Td KT |
Find the sum of odd numbers between 0 and 50

Ivar/ OR

,636 T IE & & AT AP : 9,17,25......% frad wg @A 7T |
How many terms of A.P :9,17,25......
636 sum

- (18) figatt (4,-1) R (-2,-3 )y F e art YATEUE &
quffoa & ae fRAgal & Adais FaRiag |

Find the coordinates.of the points bisecting the line segment

joining the points ) and (-2,-3)
N
SPorera/ OR
N
Q
mﬁvﬁ:ﬁg{ 2513, (-11). (5,-2) M (4,-4) T& AT
&g
4,-4) are

Prove that the points (-2,-1), (-1.1), (5.-2) and (
vertices of a rectangle

SA-(19) ey gdafae &l fag Hifag-

( SinA + CosecA )? + { CosA + SecA )7 = 7 +tan‘Ad Cot’A

Prove the following identities-
( SinA + CosecA }? + ( CosA + SecA Y =7+ tan’A + Cot'A
3ruar / OR

Rg fifag -
tan36° tan17° tan54° tan73° =1 .

prove it -
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4 aRadl & ol gfeta mu wa S

- _
ol (fglac-qmned mean of the following frequency
Find 1he =
distripution
| 7085 \ 85-100|
\

25-40 \ 40-55 | 55-70
’:’E__\ 44 26\ 3 i l}

Huar / OR

frsr e de @ wgee T AR |
Find the mode of the following frequency distribution

0-10 | 10-20 | 2030 | 3040 | 40-50 X

(,[10\13\7\4J

Qug-q

< T-(27) B R it gt o R A we S -
X+2y=5
2x -y =3 ,®
K\Q

Solve the followi airs of linear equations graphically

HYgr / OR

mﬂaﬂﬁx-y+1:04ﬂ?3x+2y—12=omugtﬁﬁml

Draw the graph of the equations x - y +1=0 and 3x + 2y -12
=0

R~ (22) G 8 Al &1 Yaravs diaas 28 3 7 & smura # B
$IfSg |

Draw a line segment of 8 cm and divide it in the ratio 3 - 7

HYdi / OR

¥

5 Al Bism & uah ga w O @) wusl Yy S st wer 60° 3 S
Rgh gdar |
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10 o enche of ragds D Cr1f wirach are

Diaw Lo tangents
t 607 1o each Ot

mchined at an angle O

a1 Aruaa Ta T
Y distribution

fAra apearEd) Ae

arid- {774
he tollowing frequent

Findg tha imedian of 1

4064 (GO-BO

R a2y} G5 R 24

Frequency

f.ife times (in hours)

stvar [ OR

Mo

o it dggerar &
frequency distribution

{a-1 a1t de
lowing

f-ind the moda of the 1ol

S 20 - 30 || ?0—40\40—50\50—60 ‘F 60-10\

core

Number of Students
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